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420,000& = 120H& 5,040
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202 O4dl 2,500 2,000 500
01 = LH 4 Hi 2,500 2,000 500
OtEEsS RF2A Kl 500,000& * 5% 2,500
302 OI=LTHOH E &= 1,000 1,000 0
02 2IAQITHOH A =S FESEN S 1,000 1,000 0
O&2Itol It &) BA3 1,000
401 AIEHI L 20HEI 10,000 0 10,000
01 A& tl 10,000 0 10,000
OM=HE AER Qo= MA 10,000
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07 IXNHHNAR S = 372,549 372,549 0
O&t=2&lsted Dl gxtz 372,549
MNENSESFLIAH(ZIAEX) 4,986 4,986 0
308 XXM SOl A 4,986 4,986 0
07 IXNSHHAURE = 4,986 4,986 0
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ARNEE(EXETHR) 2,520 2,520 0
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= 756
Al 1,764
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Ot =gt E2= M2& 55,0008 * 20% 1,100
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